Multiplying Two Binomials (A)
IM2 - 2.2 (P — ¢V2 MathDrills A) Binomial Multiplication

1 (=72% = 72)(—2* 4 22°)
2. (Tk + 8)(—9k* — 5k)

3. (5n — Tn?)(—2n — 1)

N

(92 4 7) (=5t — 27)

Ot

- (8y” + 5y (4y" + 8y°)

6. (Ta* — 3a®)(9a* — 7a?)

(=Tt ot (T 4 4t

N |

(=20 — %) (—5b° — 2b*)

(=75 +85%) (=25 — 45%)

O

10. (—c* +4c%)(=5¢% — 9¢)
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Multiplying Two Binomials (A) Answers

IM2 - 2.2 (P — ¢V2 MathDrills A) Binomial Multiplication

. (_72.2 — 72)(—z* + 22°)
=725 72" —147°

[}

(7k + 8)(—9Kk* — 5k)
— —63k® — 107k* — 40k

o

(5n® — Tn*)(—2n — 1)
= —10n* + 9n® + n?

19z + 7) (=52t — 2°)
— —45x° — 445t — 723

- (8y° + 5yh) (4y* + 8y°)
= 3297 + 84y% + 4047

Ut

. (Ta* — 3a®)(9a* — 7a?f)
= 63a” — 76a” + 21a°

(@)

-3

(=Tt 4 983 (78 4 4t
— —49¢” 4+ 35¢t% + 36t°

oo

(=20 — %) (—5b° — 2b*)
= 106° + 395" + 141°

~
O

0. (=75 +8s5%)(—25" — 45°)
= 14s% + 1257 — 325°

10 (=c* + 4c*)(=5¢* — 9c¢)
=58 —11¢° — 366
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